A HOEHBLARREBUSRRE (ARAADHEEFIZLS)
D) A SE: AR 1/18-20) DN, — HZ H 4y TR
2) A EIT, LEE), 2.5 MBE), 3.BEHHEE., 4.20f( )TEM
Loip i ~30/30| ~45/45| 0/60 |~30/60|~40/60| ~50/60| 60/60 50/75 | 75/75
1 HEp 3 1 19 20 47 108 1
2 BEHAE 2
3EMBH 2 1 1 11
4 FDih,
4g%§%ﬁwj 1 4 1 8 6 9 3
4 /X—p(6h) 1
4 1% #) 1 1 2 3 4 1
4 WEHWAD 1
4 ET 1
4 ZDih 1 1
wEt 3 4 1 27 28 59 136 2 5
KRB 7= 58/ PRERERERE (49)
EERE ~60/90| 90/90 |40/120 |120/120 |150/150 [180/180 |200/200 |210/210 |b2:o72vY #3t
18 199
2 BRH A E 2
3SEHAY 15
4 ZFDfh,
4 77 (10054
) : 29
4 7%—h(6h) 1
4 ¥ 3 3 1 12 1 2 1 1 36
4 EHAD
4 WET 1 2 1
4 D 1
KeEt 4 5 1 14 1 2 1 1 1 295




